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PARAMETRIC EQUATIONS OF A LINE AND OF
OBJECTS ON A LINE

TABLE–SELECTION GAME
Select one correct answer for each of the questions in the test and press theFinish button at the end. The answers will be validated automatically.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



FINISHSCORE

We are given points A = [−1; 3] and B = [3; 6]. Further, we are given parametric equations of a straightline AB: x = −1 + 4t, y = 3 + 3t; t ∈ R. Match each described object lying on the straight line AB withthe corresponding set of values of parameter t.
1. Centre of the line seg-ment AB t ∈ {2}t ∈

{
−12

}
t ∈

{12
}

t ∈ {−2} t ∈ {2}t ∈
{
−12

}
t ∈

{12
}

t ∈ {−2} t ∈ {2}t ∈
{
−12

}
t ∈

{12
}

t ∈ {−2} t ∈ {2}t ∈
{
−12

}
t ∈

{12
}

t ∈ {−2}
2. The line segment AB t ∈ {0; 1}t ∈ [−1; 0]t ∈ [−1; 1]t ∈ [0; 1] t ∈ {0; 1}t ∈ [−1; 0]t ∈ [−1; 1]t ∈ [0; 1] t ∈ {0; 1}t ∈ [−1; 0]t ∈ [−1; 1]t ∈ [0; 1] t ∈ {0; 1}t ∈ [−1; 0]t ∈ [−1; 1]t ∈ [0; 1]
3. The ray AB t ∈ (0;∞)t ∈ [−∞; 0)t ∈ [0;∞)t ∈ [1;∞) t ∈ (0;∞)t ∈ [−∞; 0)t ∈ [0;∞)t ∈ [1;∞) t ∈ (0;∞)t ∈ [−∞; 0)t ∈ [0;∞)t ∈ [1;∞) t ∈ (0;∞)t ∈ [−∞; 0)t ∈ [0;∞)t ∈ [1;∞)
4. The ray BA t ∈ (−∞; 1]t ∈ [−∞; 0)t ∈ [−∞; 1)t ∈ [−1;∞) t ∈ (−∞; 1]t ∈ [−∞; 0)t ∈ [−∞; 1)t ∈ [−1;∞) t ∈ (−∞; 1]t ∈ [−∞; 0)t ∈ [−∞; 1)t ∈ [−1;∞) t ∈ (−∞; 1]t ∈ [−∞; 0)t ∈ [−∞; 1)t ∈ [−1;∞)
5.

The point of intersec-tion of the line AB with
x-axis t ∈ {−5}t ∈ {−1}t ∈ {0}t ∈

{14
}

t ∈ {−5}t ∈ {−1}t ∈ {0}t ∈
{14

}
t ∈ {−5}t ∈ {−1}t ∈ {0}t ∈

{14
}

t ∈ {−5}t ∈ {−1}t ∈ {0}t ∈
{14

}
6.

The point of intersec-tion of the line AB with
y-axis t ∈

{
−13

}
t ∈

{14
}

t ∈
{154

}
t ∈ {0} t ∈

{
−13

}
t ∈

{14
}

t ∈
{154

}
t ∈ {0} t ∈

{
−13

}
t ∈

{14
}

t ∈
{154

}
t ∈ {0} t ∈

{
−13

}
t ∈

{14
}

t ∈
{154

}
t ∈ {0}

7. The point M ∈ AB;
M = [?; 4] t ∈

{14
}

t ∈ {1}t ∈
{13

}
t ∈ {−1} t ∈

{14
}

t ∈ {1}t ∈
{13

}
t ∈ {−1} t ∈

{14
}

t ∈ {1}t ∈
{13

}
t ∈ {−1} t ∈

{14
}

t ∈ {1}t ∈
{13

}
t ∈ {−1}

8. The point N ∈ AB;
N = [2; ?] t ∈

{34
}

t ∈ {1}t ∈
{13

}
t ∈

{14
}

t ∈
{34

}
t ∈ {1}t ∈

{13
}

t ∈
{14

}
t ∈

{34
}

t ∈ {1}t ∈
{13

}
t ∈

{14
}

t ∈
{34

}
t ∈ {1}t ∈

{13
}

t ∈
{14

}



Great, now you can try solving one of the
Millennium Prize problems!

You are an Einstein!Good job, buddy!Wait! Sheldon might get jealous!You are the champion!A small step remains,
next time will be glorious!

A little harder and you would kill it. Try it again.That’s like when you end up second in a
competition when you could have won it.

That was close! Next time you will
shine like a star.

Good job, but you are no Einstein yet!Not great, not terrible.
You are somewhere in the middle.

Don’t worry, your result is more than half correct.Everyone can make a mistake. What’s important is
to learn from it and don’t give up.

Hang in there, there is space for improvement.You understand this a bit,
but you still need to practice.

Keep trying. It will be better next time.Hey, it could be worse, right?That was a close shave! Study more, next time
you might not be that lucky to pass.

You made a lot of mistakes.
You aren’t good at this yet.

Ehm, you aren’t Jesus walking on water.
Get back on the ground!

Do you know that you have to click
on the right answer?

The awkward moment, when you finish a math
problem and your answer isn’t even one of the

choices. . . .

This is like a foreign movie to you;
you still need subtitles.

For this test - the goose is in the oven!
Try another test.

Let’s pretend it never happened.

Correct answers:




